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Important Instructions :

1.

This paper consists of 40 Multiple
Choice Questions (M.C.Q.). All
questions are compulsory and carry
1 mark each. There is not negative
marking.

Each question has four alternative
responses marked (A), (B), (C) and
(D). You have to choose an
appropriate answer option and
mark it on the OMR sheet.

For marking answers on OMR
sheet, follow the detailed instructions
given on the OMR Sheet.

Use only Blue or Black ball point
pen for marking on OMR.
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What is the primary function of a

router in a computer network ?

(A) To connect devices within a

single network

(B) To manage data traffic

between different networks

(C) To provide an interface for

data storage

(D) To act as a central server for

file sharing

The protocol used for sending

e-mail across the internet is :
(A) FTP

(B) HTTP

(C) SMTP

(D) DNS

Which layer of the OSI model is
responsible for logical addressing

and routing ?
(A) Physical
(B Data Link
(C) Network

(D) Transport
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Which term identifies a specific
computer on the web and the main

page of the entire site ?
(A)
(B)
(©)
(D)

URL
Web site address
Hyperlink

Domain name

Which Internet application is used
primarily for accessing and sharing

large files ?
(A)
(B)
(©)

E-mail

Twitter

File sharing services like
Google Drive

(D)

Online gaming platforms
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What is the main function of a web
browser in relation to Internet

applications ?
(A) To send e-mails
(B)

(©)

To host websites

To display web pages and

other online content

(D)

To manage network security
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What does HTML stand for ?
(A) Hyper Text Markup Language
(B) Home Tool Markup Language

(C) Hyperlink and Text Markup
Language

(D) High Text Markup Language

Which tag is used to define the

title of a web page ?
(A) <meta>
(B) <head>
(C) <title>

(D) <body>

What is the largest heading tag in
HTML ?

(A) <heading>
(B) <h6>
(C) <hi>

(D) <header>

10.
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Which of the following is a
disadvantage of the star topology ?
(A) Central point of failure

(B) High cost due to cabling

(C) Difficult to expand

(D) Slow data transmission
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11. What is the primary function of a

modem in internet connectivity ?

(A)

(B)

(©)

(D)

To convert digital data to

analog signals

To route data between
networks
To provide wireless

connectivity

To manage email accounts

12. How do you create an ordered list

in HTML ?

(A)
(B)
(©)
(D)

<ul>

<ol>

<li>

<list>

13. What does the <br> tag do in

HTML ?

(A)
(B)
(©)
(D)
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Creates a bold text
Inserts a break line
Adds a border

Changes the background
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14.

The default alignment of text in an
HTML document is :

(A) Left
(B) Right
(C) Center
(D) Justify

15.

What does HTTP stand for ?

(A) Hyper
Protocol

Text Transmission

(B)
(©)

Hyper Text Transfer Protocol

High Throughput Transport
Protocol
(D) Hyperlink Text Transport

Protocol

16.

Which HTML tag is used to define
an internal CSS ?

(A) <style>
(B) <css>
(C) <script>
(D) <link>

17.
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How do you add an external CSS
file to an HTML document ?

(A) <link href="style.css"

rel="stylesheet">
(B)
(®)
(D)

<style src="style.css">
<script href="style.css">

<css href="style.css">
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18.

How do you add a comment in

CSS?

(A) <!-- comment -->
(B) /I comment

(C) [* comment */

(D) ** comment **

19.

HTML isa ... ... ... language :

(A) Programming
(B)
(©)

(D)

Markup
Scripting

Network

20.
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What does the term "bandwidth"
refer to in computer networks ?
(A) The physical size of network
cables

(B)

The capacity of the network

to transfer data

The number of nodes

(©)

connected in a network

(D) The speed of the CPU in

network devices
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21. Which tag is used to define a
paragraph ?
(A) <para>
(B) <p>
(C) <pg>
(D) <text>
22. What is the purpose of the <meta>
tag in HTML ?
(A) To include metadata about the
document
(B) To create a link
(C) To style the document
(D) To embed an image
23. What is JavaScript ?
(A) A programming language
(B) A markup language
(C) A database
(D) An operating system
24. Which of the following is used to
declare a variable in JavaScript ?
(A) var
(B) letus
(C) const
(D) None of the above
A-1314 WDD-201

(9)

21.

YuTE 1 aftnfid @ & fae =E
1 3 39 T Sar § ?

(A) <para>
(B) <p>
(C) <pg>

(D) <text>

22,

HTML ® <meta> 37 T 32T 1

g2

(A) TEES & IR H HIrEe i
CXGI

(B) U foier s

(C) TR i WIEd T

(D) T THS i TS HTAl

23.

STaTfehe 1 § 2

T I Ao
T HIh3Td 7ol
T S2od

T AR foeen

(A)
(B)
(©)
(D)

24,

STaTfERe | ARse 1 =fd i &
foru o= § YA o1 ST foren ST § 2

(A) var
(B)
(C) const

(D) e # ¥ I T

letus

P.T.O.



25. What does the <video> element in
HTMLS5 do ?
(A) Embeds streaming video

content

(B) Adds video effects to images
(C) Provides a link to a video file
(D) Plays music files

26. Inside which HTML element do we
put JavaScript code ?
(A) <js>
(B) <javascript>
(C) <script>
(D) <code>

27. Which operator is used to assign a
value to a variable in JavaScript ?
(A) =
(B) ==
€ ===
(D) =>
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28.

Which event would, you use to
detect when a user clicks on an

element ?
(A) click
(B) select
(C) mousedown

(D) mouseup

29.

Which of these is not a mouse

event in JavaScript ?
(A) mouseover
(B) mouseleave
(C) mousestop

(D) mouseout

30.
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Which keyword is used to stop a

loop in JavaScript ?
(A) stop
(B) break
(C) exit

(D) return
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31.

Which protocol is used for secure

web transactions ?
(A)
(B)
(©)
(D)

FTP

HTTP

HTTPS

SMTP

32.

What does ISP stand for ?
(A)
(B)
(€)
(D)

Internet Security Protocol
Internet Service Provider
Intelligent Service Package

Integrated System Protocol

33.

Which of the following is an

example of a search engine ?
(A) Microsoft Word

(B) Google

(C) Adobe Photoshop

(D) Windows Media Player

34.

FTP stands for :

(A) File Transfer Protocol
(B) Fast Transfer Process
(C) Free Text Posting

(D) Full Text Protocol
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35. Which of the following HTTP
methods is used to retrieve data from
a server ?
(A) GET()
(B) DEL()
(C) PUT()
(D) POST()
36.  Which of the following is the correct
syntax for creating a hyperlink ?
(A) <ahref="url">link text</a>
(B) <link href="url">link text</
link>
(C) <hyper href="url">link text</
hyper>
(D) <url href="url">link text</
ufl>
37. In the context of networking, what
is a MAC address ?
(A) A unique identifier assigned to
network interfaces
(B) An address used for internet
routing
(C) A security protocol for data
encryption
(D) A method to compress
network data
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38.

Which network device works at the

Data Link layer of the OSI model ?

(A) Switch

(B) Router

(C) Modem

(D) Hub

39.

What does LAN stand for ?

(A) Local Access Network

(B) Large Area Network

(C) Local Area Network

(D) Limited Area Network

40.
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Which of the following is NOT a

type of network topology ?

(A) Bus

(B) Star

(©) Ring

(D) Cube
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